Quiz #2 Hw#11   Practice Describing 3-way Effects

Answer Hints:
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10-year olds show a larger gun effect than 5-year olds.  This interaction effect is stronger for boys than girls.

2.  5 < 10 for each combination of birth sex & toy

3. gun > puzzle for each combination of age & birth sex
4. Boys > girls for gun but not for puzzle
5. Gun effect bigger for boys than girls. True for both 5- & 10-year olds

DV = number of aggressive actions during a 30 	minute play period.


This primarily study of “the gun effect” – consider than when selecting simple effects!








5.  Determine whether or not there is a Toy X Birth Sex interaction and whether this 2-way effect is descriptive or 	potentially misleading.  Also tell if this effect can be causally interpreted.





4.  Determine whether or not there is a main effect for Birth Sex and whether this main effect is descriptive or 	potentially misleading. Also tell if this effect can be causally interpreted.





3.  Determine whether or not there is a main effect for Toy and whether this main effect is descriptive or potentially 	misleading. Also tell if this effect can be causally interpreted.





2.  Determine whether or not there is a main effect for Age and whether this main effect is descriptive or potentially 	misleading. Also tell if this effect can be causally interpreted. 





1.  Determine whether there is a 3-way interaction and, if so, describe it in terms of the simple 2-way of age x toy		 for each birth sex group. Also tell if this effect can be causally interpreted.
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Type of Toy Present
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Age
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Birth Sex
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